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myF : %yfq;fspdJk; Nru;itfspdJk; mstwpjy; - 3  

                         mtfhjNuh khwpyp  

 Fwpj;j %yfnkhd;wpd; rhuZj;jpzptpw;F rkdhd jpzpit fpuhk;fspy; epWj;njLf;Fk; NghJ 
mjpy; fhzg;gLk; mZf;fspd; vz;zpf;if khwpyp MFk;. 

 Fwpj;j Nru;itnahd;wpd; rhu;%yf;$w;Wj; jpzptpw;F rkdhd jpzpit fpuhk;fspy; 
epWj;njLf;Fk; NghJ mjpy; fhzg;gLk; %yf;$Wfspd; vz;zpf;if khwpyp MFk;. 

 ,k;khwpyp ngWkhdk; mtfhjNuh khwpyp vdg;gLk;. 

 mtfhjNuh khwpyp ngWkhdk; = 6.022 x 10
23 

 
%yfk; 

 

 
rhuZj;jpzpT 

 
jug;gl;Ls;s jpzpT 

 
mZf;fspd; vz;zpf;if 

1. C 12 12 g 

 

 

2. C 12 6 g 

 

 

3. C 12 24 g 

 

 

4. C 12 18 g 

 

 

5. Mg 24 24 g 

 

 

6. Mg 24 12 g 

 

 

7. Mg 24 240 g 

 

 

8. Mg 24 72 g 

 

 

9. Al 27 27 g 

 

 

10. Na 23 115 g 

 

 

11. Al 27 54 g 

 

 

12. Na 23 230 g 

 

 

13. K 39 3.9 g 

 

 

14. Ca 40 10 g 

 

 

15. Be 9 13.5 g 

 

 

16. B 11 77 g 

 

 

17. Ca 40 60 g 

 

 

18. Li 7 14 g 

 

 

19. Fe 56 112 g 

 

 

20. Fe 56 560 g 
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%yfk; my;yJ 
Nru;it 

rhu;%yf;$w;Wj;jpzpT jug;gl;l jpzpT %yf;$Wfspd; vz;zpf;if 

1. O2 = 16 x 2 

= 32 

 

 

32 g  

2. N2 = 14 x 2 

= 28 

 

 

14 g  

3. CO2  = ( 12 x 1 ) + ( 16 x 2 ) 

= 12 + 32 

= 44 

 

66 g  

4. H2O = ( 1 x 2 ) + ( 16 x 1 ) 

= 2 + 16  

= 18 

 

36 g  

5. NH3 = ( 14 x 1 ) + ( 1 x 3 ) 

= 14 + 3 

= 17 

 

85 g  

 

 FSf;Nfhrpd; ( C6H12O6 ) rpy jpzpTfs; jug;gl;Ls;sd. mtw;iw mbg;gilahff; nfhz;L 
ml;ltiziag; G+uzg;gLj;Jf. 
 

1. jug;gl;l jpzpT 180 g 

 

90 g 360 g 

2. rhu;%yf;$w;Wj; jpzpT  

 

  

3. %yf;$Wfspd; vz;zpf;if  

 

  

4. C mZf;fspd; vz;zpf;if   

 

  

5. H mZf;fspd; vz;zpf;if   

 

  

6. O mZf;fspd; vz;zpf;if   

 

  

7. C,H mZf;fspd; nkhj;j vz;zpf;if  

 

  

8. C,O mZf;fspd; nkhj;j vz;zpf;if   

 

  

9. H,O mZf;fspd; nkhj;j vz;zpf;if   

 

  

10. mZf;fspd; nkhj;j vz;zpf;if  

 

  

 


